Name:

(Transition Words )

Read each passage and complete it using the correct transition words or
phrases from parentheses.

1. When we don't get enough sleep, we have trouble recalling things.

(Because, This is because) sleep is important for our learning

and memory. , (In other words, Finally) without enough sleep,

we can't properly focus and process new information. ,

(However, Further) ore memories

| PREVIEW

(now, later)
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2. Learning online has , (On the one

hand, However) it is yme, and we don't need

to travel. 0)

(although, while) st ract with teachers

face-to-face. And _ ours using a smartphone

or a laptop can pro\

dsidential ranking

7 omr e = e,

poll, Abraham Lincoln ranks among the top three.

(This is because, Part of the reason) why he is so popular is he is the one who

issued the Emancipation Proclamation, (why, which) led to

abolishing slavery in the country. (In other words,

Equally important) is the fact that he is the only president to hold a patent.
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